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Answer how point P internally divides AB.
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Find the coordinates of the midpoint M between the two points BC.
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Find the coordinate x of the point that internally divides

the two points AB as follows.
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Answer how point P externally divides AB.
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Find the coordinate x of the point that externally divides

the two points AB as follows.
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Find the coordinates of point N that externally divides
the two points AG into a 3:1.
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Find the coordinate G of the center of gravity of AABC.
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Answer how point P internally divides AB.
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Find the coordinates of the midpoint M between the two points BC.
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Find the coordinate x of the point that internally divides
the two points AB as follows.
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Answer how point P externally divides AB.
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Find the coordinate x of the point that externally divides
the two points AB as follows.
7w HA D

BB A(3), BQ1)% 1: 3
@®

—3 X3+7 X177
/7 =3

MEE A(0), Be)x 2: 1
@®

@5% A(7), B(13)% 3 : 5
@

5 X743 %73
B 3 —5

HAEND

HEE A(4), B®)% 2: 3
@

Th -y Th E0r5 bt
6. 2 AGEZ3: 1A T HRNODEE ZKRD &I,
Find the coordinates of point N that externally divides
the two points AG into a 3:1.
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Find the coordinate G of the center of gravity of AABC.
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Answer how point P internally divides AB.

Th Ho ) Th &

[0 ) b
5. 2/ BCO J A MDFEE &R X,

Find the coordinates of the midpoint M between the two points BC.
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Find the coordinate x of the point that internally divides

the two points AB as follows.
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Answer how point P externally divides AB.
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Find the coordinate x of the point that externally divides

the two points AB as follows.
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Find the coordinates of point N that externally divides
the two points AG into a 3:1.
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Find the coordinate G of the center of gravity of AABC.
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